Yealink

RoomPanel Plus Black Deployment and Connection

RoomPanel Plus Black Deployment and Connection

For the installation video, please refer to Install.

Package Contents

——) [

{12V 11.254)

\

Optional
Power Adapler (2m)  Screwdriver Quick Start Guide Power Extension Cabie
RoomPanel Plus Black Fower Adapler (2m} gl Wapsrachioss
R Y T—— Chuscien tha EMdaruir e rige Cilitshs vt ko’ Sfoalieser taalicn
Addastsrics whbetrien () [ leshis tha i i ot i i o oo bants.

20° Mount Bracket

20° HalterungSupport & 20° | Soporte de 20°

The device is at an angle of 20 to the wall after
the installation.

DE: Das Geral steht nach der Montage in enem Winkel von 207
Zur Wand.

FR: Lapparedl forme un angle de 207 gvec 8 mr apres
rinstallabion.

ES: Tras la mstalacion, el disposiivo se encuentra en un anguio
de 20" con respecto a la pared.

Mullion Mount Bracket

Plostenhalterung | Support de montage sur menea | Sopore
de montaje de parteluz

Mulliens for mounting on glass sides.
DE: Piosten 10r die Montage an Glasseden.

FF: Meneaux pour manlage sw des parols en veme,
ES: Parteluces para moniaje en kalerales de cristal.

.

J/
™

0° Mount Bracket

0° Halterung | Support & 0° | Soporta de 0°

The device is at an angle of 0° to the wall after
the installation.

DE: Das Gerat slaht nach der Montzge in einam Winked von 0°
Zur Wand.

FH: Lappared forme un angle de 0% avec le mur apres
Iinstaliation.

E5: Tras la instatacion, el dispositvg se encuenira en un anguio
de 0° con respecio a la pared.

3M Tape

36 Kiebehand | Bande 3M | Cinta 3M

For gluing the device to the glass wall.
DE: Zum Ankichen des Gerdls an die Glaswand_
FR: Pour coller Fappared a une pargl en vere.
ES: Pama pegar el dispositivg a la pared de cristal.



https://support.yealink.com/en/portal/knowledge/show?id=6459d5670a11b818a7542daa

Yealink

RoomPanel Plus Black Deployment and Connection

Glass Sticker

Glasaufidebar | Autocoltant pour e verre | Adhasivo
Para cristal

Attached to glass back for aesthetics.

DE: Werden aus asthelischen Gronden auf der Glasrickseite
angebrachl.

FR: Fixgs de lavire cote de ta parol an verre pour des ralsons
esthetigues.

E5: S8 fia a la parte posterior de cristal por estética.

x 2

Locating stickers

Positionierungsaufkiaber | Autocoliants de reperage |
Adhesnos de ublcacion

Determine the installation posiion to keep it level.
DE: Legen Sie die Monlageposition lesl. urn sle waagerechl v
halten.

FH: Determment la position dinstaliabion pour la maintenr de
niveau.

ES: Determine la posickon de instatacion para mantener i
nivelackdn.

.

R
W x6
$6 * 30 mm

For installation on concrete walls.
DE: For die Installabion an Belonwanden.

FH: Four une nstallation sur des murs en beton.
E5: Para colocacion en paredes de hommigan.

X 4

M2 *4 mm

The lock is fixed at the bottom of the device.
DE: Dias Schigss wird an der Unterselie des Gerits bafestigh.

FR: Le verrou st allache au bas de rapparail.
E5: El hlpgueo se fijg en la parie inferior del dispositiva.

\

X6

T4* 30 mm

For installation on concrete walls.
DE: For die Instaliation an Betonwinden.

FR: Pour une installation sur des muwrs en baton.
ES: Para colgcackdn en paredes de hormigan.

X6

M4 * 6 mm

Fix the metal bracket and the wall bracket.

DE:- Belestigen Sie die Metallhalterung und die Wandhalierung.
FR: Fixer l2 support matallique af I suppor mural.

ES: Fije el soporte de metal y el soporte de pared.

Hardware Component Instructions



Yea"nk RoomPanel Plus Black Deployment and Connection

Power port Internet port USB-A port Reset key
Stromanschluss Intermet-Port USB-A-Port Reset-Taste

Port d'alimentation Port Internet Port USB-A Touche de réinitialisation
Puerto de alimentacion Puerto de internat Puerto de USB-A Tecla de reinicio

!

Speaker

Lautsprecher | Haut-parleur | Altavoz

Microphone Camera
Mikrofon | Microphone | Micréfone Kamera | Caméra | Cadmara

RFID/NFC area Light/human sensor

RFID/NFC-Bereich Licht-'Bewequngssensor

Zone RFID/NFC Capteur de lumigre/de personnes

Zona RFID/NFC Sensor de luz/presencia
Mount Wall

W TIP
Take 0° mount bracket as an example for reference.

1. Glue the locating sticker to locate the installation position



Yea"nk RoomPanel Plus Black Deployment and Connection

Not included: Level instrument
w8HE: KFN

Nicht enthalten: Richten Sie das Gerat aus
Mettre I'instrument de niveau non fourni
o No se incluye: Instrumento de nivel

-9 40" - 60"

Im-1.5m

2. Install the mount bracket on the wall



Yea"nk RoomPanel Plus Black Deployment and Connection

o - 7

($6*30 mm)

T B S, X 4
Mgy | T gy i

(T4*30 mm)

**[--Lf:“;“m ‘ S
|

3. Connect the ethernet cable




Yea"nk RoomPanel Plus Black Deployment and Connection

A B/




Yea"nk RoomPanel Plus Black Deployment and Connection

@ NOTE
Method D requires connecting cable first and then installing the bracket.

4. Place the RoomPanel Plus Black onto the bracket. When you hear a click, tighten the screw to fasten the device
in place



Yea"nk RoomPanel Plus Black Deployment and Connection

X2

(M2*4 mm)

Mount Glass Wall

@ NOTE
1. Clean the glass surface before gluing the 3M tape.
2. Press the 3M tape firmly, ensuring it is securely stuck to the glass.
3. Wait 1 hour after gluing the mounting bracket and install the RoomPanel Plus Black next.

W TIP
Take 20° mount bracket as an example for reference.



Yea"nk RoomPanel Plus Black Deployment and Connection

1. Glue the locating sticker to locate the installation position

Notincluded: Level instrument

mEE: KN

Nicht enthalten: Richten Sie das Gerat aus
Mettre 'instrument de niveau non fourni
No se incluye: Instrumento de nivel

2. Glue the mount bracket to the glass



Yea"nk RoomPanel Plus Black Deployment and Connection

3. Connect the ethernet cable

10



Yea"nk RoomPanel Plus Black Deployment and Connection

4. Place the RoomPanel Plus Black onto the bracket. When you hear a click, tighten the screw to fasten the device
in place

11



Yealink

RoomPanel Plus Black Deployment and Connection

@ o
\
!
) \
\\
\
\

A\
\)
\\ S
\\\ \
\ \ (M2*4mm)
A\ 1
A\ \
\_‘\\ N\
A\ \
b\ \
\\ \
b A\ \
\\
\ \\\\, \
A3 = '\‘l‘
h \ \
\ \
-y = \
i St S
SN

5. Glue the glass sticker on the back of the glass to maintain the aesthetics (Optional)

12



Yealink

RoomPanel Plus Black Deployment and Connection

SN
N

Mount Mullion

W TIP
Take 0° mount bracket as an example for reference.

1. Locate the installation position

Not included: Ruler
®E®. R¥

Nicht enthalten: Herrscherin
Regle non fourni

No se incluye: Regla

Ruler
RF
Herrscherin
Régle

Regla

13



Yealink

RoomPanel Plus Black Deployment and Connection

Not included: Level instrument
FEFE KFEN

Nicht enthalten: Richten Sie das Gerat aus
Mettre I'instrument de niveau non fourni
No se incluye: Instrumento de nivel

2. Install the mullion mount bracket and attach the bracket

14




Yea"nk RoomPanel Plus Black Deployment and Connection

[ ﬁxz

($6*30 mm)

/e

(T4*30 mm)

/
\

(M4*6 mm)

/s

[

3. Connect the ethernet cable

15



Yea"nk RoomPanel Plus Black Deployment and Connection

@/

I T [ n
DGI2Y =
e-e & Resst
Laibml
o]
(o)
’— LC:)

@ NOTE
You can route the cable through this hole.

4. Place the RoomPanel Plus Black onto the bracket. When you hear a click, tighten the screw to fasten the device
in place

16



RoomPanel Plus Black Deployment and Connection

Yealink

-~
(M2*4 mm)
E i
1
I
U
AN |
R ‘
|
I
|

Connect RoomPanel Plus Black

17



Yea"nk RoomPanel Plus Black Deployment and Connection

=)
i

Not included: ethernet Cable
TEE. WML

Nicht enthalten: Ethernet-Kabel
Cable Ethernet non fourni

K \ No se incluye: cable Ethernet
@ O - O )

f
|

[

_
—HD
[

|

2

—

vl 0 | ]

Internet

|IEEE 802.3af compliant PoE Hub/Switch

IEEE 802.3af #TAt PoE 33i#l

PoE Netzwerk-Switch

Hub/Interrupteur PoE conforme a la norme IEEE 802.3af
Hub/Switch PoE conforme a IEEE 802.3af

@ NOTE
e The device supports the wireless network.
e You can also connect the power cable and network cable to supply power and internet.

After the deployment is complete, you can refer to the Quick Setup chapter to configure the device first; After
configuration, you can refer to the Quick Usage chapter to quickly understand the device features.

18


https://support.yealink.com/en/portal/knowledge/show?id=6459d5650a11b818a7542d38
https://support.yealink.com/en/portal/knowledge/show?id=6459d5650a11b818a7542d3d

	RoomPanel Plus Black Deployment and Connection
	Package Contents
	Hardware Component Instructions
	Mount Wall
	Mount Glass Wall
	Mount Mullion
	Connect RoomPanel Plus Black

